m 790 ADVENTURE, white - IKD 2024 <2024><AR><F9642X4>

SIDE TRIM
62609
Pos Part Number Description Additional Text Quantity

1 C63508042000AB side cover right 1.00
2 C63508041000AB side cover left 1.00
3 C61008027000 inner lining right 1.00
4 C61008026000 inner lining left 1.00
6 C63508040120 Sliding seat bushing 2.00
8 C90706003060 Quick-lock coupling 6.00
9 C63711054010EB Battery cover 1.00
10 A61008051000ABA Fuel tank spoiler right with decal 1.00
11 A61008050000ABA Fuel tank spoiler left with decal 1.00
12 C61008024000 fuel tank inner spoiler right 1.00
13 C61008023000 fuel tank inner spoiler left 1.00




14 C64106001025 rubber grommets d 22.5/5/2 2.00
15 0081050181 SCREW FOR PLASTIC K50X18 T20 300 TPI Erzbergrodeo 2.00
16 C61008027010 plug cover 1.00
17 54603048600 RANGE CHANGE METAL NUT M5 INOX 6.00
18 54603048100 clip nut M6 2.00
19 C0000240602000 HH COLLAR SCREW M6X20 TX30 2.00
20 69008121160 Special screw M5x12 21.00
21 C90708000015 Special screw M6x15x3 2.00
22 C0073800602000S Oval head screw ISR M6x20-A2-7 2.00
23 C54308042000 rubber buffer 2.00
24 61908040030 Bracket for side fairing 2.00




